
CW-6G
Tav. 560006200M01P00



CW-6G - GAS CW-6G

Codice Descrizione Prezzo €
531020200 GRIGLIA SC.FUMI 300 TOND.S65 19,80
541072800 ASS.DIST.S65 6 FOR. 105,00
544263600 FIANCO APP.S65T SX 86,40
533010300 PIEDE Ø23 012-022 M10 PLAST. 7,85
541078600 ASS.CASS.RACC.SUGO CW-G S65 111,00
539018900 INDICE MAN.C/FRECCIA ROSSA 5,55
544293000 CRUSC.S65 CW-6G 55,85
544263500 FIANCO APP.S65T DX 86,40
541078400 ASS.PIANO S65 CW-6G 296,00
541058301 ASS.TELAIO PORTAPIETRA CW 62G 177,00
536014800 PIETRA LAVICA A SCAGLIE 7,85
541058100 ASS.PARASP.CW-62G/CW-6G 223,00
536014600 IMPUGNAT.Ø28X90XM10 CW 9,90
544023901 PALETTA FRY-TOP 23,05
541057300 ASS.GRIGLIA CW-61/62/6 223,00



CW-6G
Tav. 560035700M01P00

536017100

539022600 537008500

536004900

533018500
533039100

531019900

533042100

533010800

533039300

531025600
533010900

533011500

531025700

533020200G30- 28+30mbar
G31- 37 mbar

G30- 50 mbar

G20- 20 mbar
G25- 25 mbar

G25- 20 mbar

G25- 25 mbar NL

533020200

533020400

533020400

533020400

533043200

533030100

533030200

533043100

533030200

CW-6GCW-4G

533043800

533043900

533044000

533055100

533055000

533069000

560035700M01P00

5330104 00

5330185 00

5330186 00

5330457 00

5370030 00

5470027 00



CW-6G - GAS CW-6G

Codice Descrizione Prezzo €
531019900 BRU.CW-G S60-65 140,00
533011500 PILOTA 0160 2F RACC.TERMOC. 21,95
533018600 RACC.CANDELA Ø7 M10X1 4,55
533045700 TC G.UNI 0500 16,50
533010400 BICONO PILOTA 0160 Ø06 5,55
537003000 CAND.ACC.VITE M M4 ELETTR.LUNGO 9,90
533018500 RACC.BIC.Ø06 M10X1 4,55
547002700 CAV.AT TUB.Ø2 -OCC.Ø4 L0500 7,85
533018500 RACC.BIC.Ø06 M10X1 4,55
533039100 BICONO Ø06 4,55
537008500 PIEZOELETT.M22X1,5 C/D 13,20
539022600 DISC.64.PC-GP R. 5,55
536017100 MANOP.Ø70 PEL Ø08X6,5 SEDE PERP. 15,45
531025700 RUB.GAS 21S P.V.BY-P.Ø070 63,45
533069000 BY-P.RUB.20S-21S Ø070 11,00
533010800 DADO ES.X BIC.Ø10 M16X1,5 6,60
533039300 BICONO Ø10 5,55
531025600 RACC.PORTAINIETT.90°CANN.Ø10M16 9,90
533010900 DADO ES.M14X1 OT 5,55
533042100 BOCCOLA REG.ARIA CW-G 14,30
533020200 UGELLO PILOTA 0160 Ø30 CORTO 5,55
533020200 UGELLO PILOTA 0160 Ø30 CORTO 5,55
533020400 UGELLO PILOTA 0160 Ø51 CORTO 5,55
533020400 UGELLO PILOTA 0160 Ø51 CORTO 5,55
533020400 UGELLO PILOTA 0160 Ø51 CORTO 5,55
533043200 INIETTORE CH12X14,0 Ø110 6,60
533030100 INIETTORE CH12X14,0 Ø095 6,60
533030200 INIETTORE CH12X14,0 Ø170 6,60
533043100 INIETTORE CH12X14,0 Ø185 6,60
533030200 INIETTORE CH12X14,0 Ø170 6,60


